AYUSH(Main) - 2017 — Set — 4
Composite Paper

Time : 1 hour

Full Marks ; 100
Each question carries 1 mark.
There is negative marking of 0.25 mark for each wrong answer.

Answer all questions, choosing the correct one from the alternatives suggested and
darken the appropriate circle usin g BLUE or BLACK BALL POINT PEN.

1. Which of the following alloys generally

does not contain zinc ? (2) Cuz%u' Ag%ﬂ
W 8ess Tachofworld.In ..., .
(2) Bronze (3) Co' /Ba2*

(3) Gemmnan Silver

1
J4) Gunmetal @ iFE/.LI;G
2. Which of the following substances &

contains maximum number of water

= Which of the following salts provides
molecules per mole in its crystal ?

(1) Potashal coloured gas on thermal decom-
otash alum
osition 7
(2) Mohrsalt P
{3] Wgahing soda (1) Potassium chlorate
(4) Blue vitriol (2) Ammonium nitrite
3. Thepureformofironis: (3) Sodium nitrate
(1) Piglron (4) Lead nitrate
(2) Castlron ‘
“m Wruughtlm:n 6. The reagent used to distinguish
@)  Invar formaldehyde and acetaldehyde s :

i . (1) Alkaline iodine
4.  Which of the following pair of

electrodes has positive values of (2] Alkaline phenol
standard electrode potential 7 (3) Tollen's reagent
+ 24 . 4 Baever'
™ '{A.FE %e (4) yer's reagent
LT - 1DM7 | - (3) .
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10.

LT - 1DN17 '

. "
MNylon aq ka i gl gk s monomer

is

(1) I!ﬁmmclhyfenl:dlamlnr: o-

pr_:l-,rrnr,-rn!
(2) Adipalyrch!nridn
(7) Both (1) and (2)
(4) Caprolactam

_ The percentage of empty space ina

pody centred cubic arrangement

Is:

(1) 74

2) 68

(3) 32

(4) 25

1 mole of hquid A and 2 moles of

fiquid B make a solution having a (otal

vapour pressure of 38 lorr. The

vapour pressure of pure A and pure

B are 45 lorr and 36 torr respectively

The given solution

(1) s anideal solution

(2) Shows negative devialion

(3) Is a minimum baoiling azeo-
trope

{4) Shows posilive deviation

When a catalyst increases the rate

of a chemical reaction, the rate

constant '

1) Remains constant

(2) Increases

(4)

11.

12.

Techofworld.In

13.

14,

(3) Decreases

(4) May increase or decrepsa

depending on order of reaction

Theterm 'sorption’ stands for -

(1) Absorption

(2) Adsorption

(3) Both absorption and adsorption

(4) Desorplion

Among the following electrolytes, the
mos! effective coagulating agent for
Sb,S, solulion is :
(1) K,S0,
(2) Cn[:l?
(3) AL(SO,),
(4) NHJF’Q‘
Which of the following compounds
has higher magnetic moment ?
(1) [Fe(CN)l™
@) [Fe(CN)J"
(3) [NICO),)
() [Fe(H,0) "
Among the tnhalides of phosphorus
___hss higher bond angle.
(1) PF,
(2) PBrJ
3 Ply
(4) 'PCI:Ir
Contd.



15. Which of the following are

16.

T

18.

peroxoacids of sulfur? -
(1) H,S80,andH,S,0,
(2) H,S0,andH,S,0,
(3) H,S,0,andH,S,0,
(4) H,S8,0,andH,S,0;
In which of the following pair, the
nature of hybridisation is not same ?
(1) PCl,, CHCI,
(2) S0, SnCl,
A3) NH; NH}
(4) XeF,. BeF,

In the preparation: of xenon

compounds, Bartlett had taken

OEPIFE as a base compound Thisis

19.

20.

vecase: | @eChofworld. |

(1) Both (:l2 and Xe have same

size
xenon and Oxygen aré gases
is

(2)
(3) Oxygen
parsmagneti:

Both dioxygen and Xenon have

molecule

“ _
almost same ._tIH values

in which of the following compounds,

nitrogen exhibits highest axidation

state 7
(1) Hydraziné

21.

gy
(2

(2) Ammonia
(3) Hydrazoic acid

(4) Hydroxylamine

HI cann't be prepared DY action of

conc. HESOA on KI because

(1) Hlis a weaker acid than
(2) Klisan insoluble sall
(3) Both HI and HESD‘, are

oxidants

Hl is a strong reducing agent

place when

(4)
Explosive reaction takes

conc. HESO" is added to patassiurn

permanganale. This is due to the

formation of :

MnO

) anoa

(3) Mn,0;

(4) ano?

Which of the following is wrongly

matched ?
(1) [Cu(NH,)J** —Square planar

¢
«2) [NIiCO) P e Neutral ligand

(3) [Co(en),** —follows EAN rule

@) [CriNH > —sp’d’

LT —1D/17 (5) (Tumover)



yn cormpound which reacts faster

22 Flerovium is o supafheavy artifictal 27 T
plement with symbol Fl Its atomic with LUcas reagent at room
Iqmt,umlurn i
pumber s
(1) penzy! alcohol
(1) 114 ‘ '
(2 Butan-2-0l
(2) 1156
(3) 2.methyipropan-1-ol
3y 1M
@) TGChOfWOHd . I N4 2.methylpropan-2-ol
(4) 116
Which of the followang process
' 23 Acetic acid exists as @ dimer in 28. _ B not
exolherrmc‘?
penzene due t0
(1) Solvation () Adsorpton
(2) lmermnlecularH-bonding (2) Combustion
() Presence of ~COOH (3) Neutralisation
(4) presence of «t-H atom (4) Evaporation
24, Eqmnilisadrugtoconlroi: 20, Which of the following is astonger
{f) Preumons conjugate base ?
2) Malari . _
@) Mo (1) CIO,
(3) Cold fever
' : (2) CIO;
i ié\ Mental disease
(3) CIOE
25. Which hormone contains iodine 7
Uf : 14 CiO
Thyroxine
2 .
() Insuin 30 Prisnge e XS X
(3) Adrenaline A
(4) Testosterone CH3Cl | KMnO, -
. AlC3Anhyd ~ KOH '
26. Which of the following solution has
the product ‘Z'is

lower pH value ?

(1) 2MNaCl(aq.)

(2) 0.2M caustic soda solution
(3) 1MNH,Cl(aq)) :
(4)- 1M l'o__dlpm acetate solution

(1) Benzaldehyde
(2) Benzoic acid
(3) Benzene

(4) Toluene

LT-1DN17 - (6)
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31, Abodyis Projected vertically upward

The times correspondin
while ascending and de

tyandt, respectivel
of projection s -

scending are
Y. Then velocity

{1) g\it-llz
9[11 + tz]
2y =M1 2)

(4)

32, A body of mass 5 kg is thrown
vertically up with K. E. = 490J. The
height at which the K. E. of the body
becomes half of the original is -

gtoheighth

i
(1) 125m LR RN
2) 10m ﬁf‘ff— )
(3) 5cm R oa
(4) 500cm

33. A child is sitting on a swing. lis

minimum and maximum heights from
the ground are 0.75 m and 2 m
respectively. Its maximum speed will

10 m/s

5m/s

(1)
()
(3)
J4)

\{0

8mls
15m/s v

34. A string vibrates with frequency of

200 Hz. When its length is doubled

LT-1DN7

- Techofworld.In

(7)

35.

36.

37.

N

and tension is allered, it begins to
vibrate with a frequency of 300 Hz.

Ratio of new tension to original
lensionis -

‘(} 9:1

1

2) 1:9
(3) 1:3
4 3:1

A simple pendulum is suspended
from the ceiling of a lift. When the lift
is at rest, its time period is T. With
what acceleration should the lift be
accelerated upwards to reduces its
period {o % ?

(1) 2g (2)
(3) 3a (4)

Two simple harmonic motions are
represented by y, = 5[sin2pt +
V3 cos2pt| and y, = 5 sin (21Tt + [V4),
The ratio of their amplitudesis :

(1) 1:3 €2) J3:
3) 1:1 4) 2:1

A planet moving along an elliptical
orbit is closest to the sun at a
distance r, and farthest away at a
distance r,,. If v, and v, are linear
o,

velocities at M and o then v2

‘ 2
@ (2]

49
9

is:

(Tum over)



45

48,

47.

LT -

uﬁj’ g

How many 8mF, 200v canderts:;rs

are needed 1o Make a condensor of
18pF, 6800V 7 ~ Pp

(2) 18
(3) 2
(4) 27

If W, IS permeability and «_is
permittivity of free space. then the
speed of ight in vacuumis .

(1) ,Hpg €0

1

vHo €0

Ko
o

(3) \

is joined to the first lens- The

5.

(1) The focal point shifts towards
the lens

(2) The focus remains undisturbed

(3) The focus shifts toinfinity

(4) The focus shifts away from the
lens

49 A fish in water of refractive index n

looks at a bird vertically above in the
arr If Y is the height of the bird and X
s the depth of the fish from the
surface. the distance of the bird

estimated by the fish 15
(1) X+nY

1
) J%Techofworld.ln‘_*’ xe¥{1-3)

Two identica!l conducting ball have

different +ve charges q, and g,

respectively. The balls are brought

together so that they touch each cther

and then kept in their onginal poson

The force beteeen themis. .

(1) Greater than before the balls
touched

(2) Same as that of before the
balls touched

3 Zero

(4) Less than that of before the
batls touched

1DAT7

- o

e 1
(3) K-'-‘f'['l*":l']

n

(4) Y+x[1-1]

50. A ray of light enters from rarer lo

denser medium. The angle of
incidence is i. The reflected and
refracted rays are mutually
perpendicular. The critical angle 1s

(1) sin”' (tani)

\(2 sin™" (coti)

(3) tan™" (sini)
@) cos™ (tani)

(Turn QVEI"]
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o an oll flame 18 an

Th gpactium

\ q
y
< I -

gleclron moving in an orbit of another
hydrogen atom for which there can

AL
axample of be maximun
g 10l three transitions. Th
Lso! tlon spectium e
(1) Lina# P ratio of velocities of the electron in
(2) gand emission gpectrum these two orbits is
[ine amission spectrum 5 3
X ‘ ctrum M 3 F 3
(4) Continuous emission Spe 4
‘ 1
52 Magnelic field at the centre gf a 3 3 (4) %
circular current carrying coll of radius
ris Be. The magnetic field on its axis 55. The dimensions of resistance arg
atadistance f trom the centre Is Ba. same as llhnse of , Where b
8 is Planck's constant and e is the
c
- el | 1" charge.
The ratio Ba E! rg ,
) 142 M2
@ 1:242 h
@) 242: 1 @ &
35 : 2
w 1 Techofworld.lp, &
53. There is @ uniform magnetic field g
directed perpendicular and into the hg'
plane of the paper. An irregular () S
shaped conducting loop Is slowly
changing into circular loop in the 56. A and B are two metals with
plane of the paper. Then: threshold frequency 1.8 * 10" Hz
[1} ACIs induced in the loop and 2.2 x 1014 Hz. Two identical
@ F”" e s '"d'I"'CEd' in “."3 loop photons of energy 0.825 gVeachare
4 :Bntl-duck\::ﬂ;:eclmn incident on them. Then pheto
o current is induced in the |
% L | SIS electrons are emitted from:
(4) Currentis induced in the loop -
in clockwise direction (1) Aalone
2
54. An electronis movinginan orbit of a 2} Bakone
hydrogen atom for which there can (3) Both(1)and(2)
be maximum of six transitions, An (4) Neither (1) nor(2)
iy 1?"?' - 7 (10) Contd.
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57. A radioactive sample S, having

actvity A, has twice numper of nucley
asa
nother sample Se of a::rwtyﬁ-.:

HA, =24, then the rato of hat e of

(1) 2
(2) 075
3) 3
4) 4
"
S8 Aradicactive element forms its own

Isolopes after 3 conseculive

dsintegrabon The partcles ematted
are

(1) 2 a-partcies and 1 [-particle
(2) 2 f-particles and 1 a-parcie
(3) 1aparucie and 2 [i-partcles
(4) 3J(\-partcies

|. 8-
L E
&

-
-
-

[ —

58 The ratio of velocity of sound in
hydrogen and axygen at STP s
1) 16 1

4 21

60 If the Sun were to Increase in
temperature from T to 2T and s
radius from R to 2R then the ratio
of radiant energy recerved on earth
to what it was prevsously will be

i 3

@) 16
3) 32
(4) 64

LT-10/17 (1)

63

61 mammwdw"'
strongly absorbed by the plants 7

)
(2)
(3)
(4)

62 Whowrote Akbamama ?

(1)
(2)
3)
(4)

Blue and red
Indigo and yellow

Crange and violel
Yellow and vioiet

Abdul Qadir Badaurni
Abdul Ratim Khan-e-Khana

Abu’l Fazl ibn Mubarak

Faizi

What was the form of government

suggested by the Cabinat Mission
Plan 1946 for India 7

(1)
J2)
(3)
(4)

A federation
A confederation
A unttary form of slates

A umion of states

64 Onwhich of the following hills 1s the

ﬁ: o1 Techofworld, | suen vercaus ocaiea”

(1)
(2)
(3)
)

The Javadi Hills
The Nign Hills
The Palam Hills
The Shevaroy Hills

65 Which among the following rivers is
not a tnbutary of the nver Mahanadi 7

)
@
(3)

(4)

Thelb
The Indravat

The Ong
The Tel

(Turn over )



66.

67.

68.

69.

LT-W1 :

\
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Which type of rarming is generally
practised in the densely populated
areas of theworld ?

(1) Commercial farming
~2)
)
2

Extensive farming
Intensive farming

Plantation farming

Which of the following Union
Terrilories has been provided with
Legislative Assembly ?

(1) Chandigarh

(2) Dadraand Nagar Havell

%3y~ Delh

(4) Lakshadweep

Which district in Odisha has lhe
highest literacy rate as per the
Census 20117

(1) Cutack Techofworld.IA’
@)

(2) Jagatsinghpur
(3) Kendrapara
(¢ Khordha
wWhich of the following trophies is
meant fora game different from the
otherthree ?
(1) Durand Cup
{2y~ Rangaswamy Cup
(3) Santosh Trophy
\ £4} Rovers Cup

(12)

70.

71.

72.

73.

Which of the following ethnic peaple
of the Andaman and Nicobar Islands

is different fram the olher three on the

basis of racial heritage 7
(1) Jarwa

2
(3) Senlinelese

(4)

The
parenchy
yessel is known as:
(1)
(2)
(3) Phellogen

Onge

Shompen

palloon like outgrowth of

ma into the lumen of the

Histogen

Tyloses

(4) Tuni::a

Vascular bundles are bicolateral in
thestemof :

Canna

Tridax

(3) Cucurbita
(4) Pisum

Which of the following was used by

Harshey and Chase to prove that DNA
is the chemical basis of heredity ?
(1) T™MV
(2) CMV
(3) T,phase
(4) SPV
Contd.



74. Which of the following is a bacterial

(2) Abscisic acid

dI'E..EBEE ? Tech Ofworld | Ay Etmyiere

('1) Influenza and Mumps

(2) -Emall pox and Chicken pox
(3) Polio and hydrophobia

(4) None of these

75. Whalis the first intermediate stable
product of photosynthesis 7
(1) PEP
(2) PGA
(3) PGAL
J{d} Pyruvic acid
76. Camellia Sinensis belongs to which
family 7
(1) Theaceae
(2) Musaceae
(3) Loganiaceae

(4) Gamineae

77. Fungidiffers from algae in:
(1) Lacking chlorophyll
(2) Having cell wall of chitin and
cellulose

(3) Having glycogen as reserve
food material

J4) Allofthese

78. Which plant hormone solely
responsible for fruit ripening 7

(1) Auxin

LT - 1D/17

(13)

lo the body of ovule 1s called:
(1) Chalaza
(2) Hium
{3y Endosperm
(4) Micropyle

80 Which of the following is not a fre@

81.

living nitrogen fixer ?
(1) Rhizobium
(2) Azotobacter
(3)" Nostoc
(4) Anabaena
In which form the synthesised foed in
plants is transported through phloem ?
(1) Malose
(2) - Fructose
(3) Glucose

(4) Sucrose

82. The biological interpreter of genetic

code is :

(1) t-RNA

(2) m-RNA
»R\:.l.

&) Allofthese

Ribosome

(Tum over)




e-qreen aIgaE
The bﬂﬂlﬁ'“.u and plue-g
83

cells confain.
(1) Many linkage groups of each

(2) One linkage group of each

(3) Nolinkage group

(4) Onlytwo linkage groups of each
84. Non-green large sized parenchyma

with waste productsis called :

(1) Mesophylls

(2) Prosenchyma

(3) Idioblast

(4) Spongy parenchyma

B85. Which type oflichens are phycsia and

88. Selffertilization in hydra never

89.

th .
(3)  1/4% of their Children -
bleeder

rd :
J4) 1137 of their children -
bleeder

because they are - o
(1) Asexual

J2) Unisexual
(3) Protandrous
(4) Protogynous
Lamina propria or stromga 5 relateq
lo:

(1) Mammalian Liver

rameia? Techofworld.l@ Humanintestne

(1) Crustose
(2) Foliose
(3) Fruticose
(4) Noneofthese

86. Antihaemorrhagic vitaminis:
(1) Vit-A
(2) Vit-B
(3) Vit-E
{4) Vit-K
87. Ahaemophilic man maries a normal

woman whose father was known lo be
a bleeder. Then it is expected that :

(1) Alitheir children will be bleeder

(2) Half of their children will be
bleeder

LT—1W{?‘;__ (14)

80.

81.

{3y~ Pancreatic Acini
(4) Ovary of Mammal

Mammary glands are modifications
of :

(1) SweatGland

(2] Sebaceous Gland

(3) Ceruminous Gland

(4) Milk Glands

Which of the following organ s called
as ‘jack of all trades' 7

(1) Kidney
(2) Pancreas
(3) Pituitary
(4) Skin



82

Ramsar Conve nlion was held in:

(3) Complementproteir

(1) India
(2) Ind (4) PhﬂgWﬁQI
ndonesia
(3 87. Which dale 15 observed B8 world
)t Animal Day 7
il 0e (1) 5MJune
93 Anagenesis is also known as : @ 25"July
rd o
(1)  Phyletic Speciation (3) 3 III:II.'.HI.‘.'.‘l'ui:ll'Jllr
December
(2) Multiplicative Speciation (%) |19
(3) Gradual Speciation ga. How many meiotic divisions ar:
to form 100 spermatozoa
(4) Allopaliic Speciation neaded tofo -
(1) 25
94, Whatbelongs to a class butnottoa 2 50
amiy? Techofworld.ln @ 1o
(1) Species (4) Noneo these
@) “Gonua go A cross between two red lomatoes
(3) Chdler produced 92 red and 31 yellow
. (4) Phyum offsprings Whal are the genotypes
i of the parents 7
85. Nmntarynulis_nmfuund in . M) RRxm
(1) Arachnida @) Rexm
(A} Hpoca (3) RrxRr
' () Cesoca 100. Papillary muscles are found in
96. Which of the following is not a (1) Haemocoel of cockroach
companent of innate immunity ? (2) Auricles of heart
(1) Antibodies (3) Ventricles of heart
(2) Interfercn (4) Am
3%
: LT-1DN17 (15)
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